AP Stats Ch 18 - Required Practice Name: @LW?QNﬁ Per:

B SAMPLINGAPPLETACTIVITY DAYI

At least one person in your group use your phone s web browser to drsplay -www.mrfelling, com/sal

ER R

Press the sample button a few more tlmes. see what happens as you contmue to take sarnples of size
:_ Compare the mean and standa.rd devratron of the Samplmg Drstrrbutron of Sample Means to the mean
-~ and standard deviation of the populatron “Notice that the means are about the same, but the standard’
dev1atron of the Sampling Drstr_rbutron of Sampie Means is much smaller than the populatron Wrrte a

sentenee or two explarmng why you beheve thrs i true
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' Try thlS Wlth the other shapes as weH How large does the sample size need to be before we can say the
‘ samphng drstrrbutron is approxrmately normal‘7 e
o - f’;’f b fﬁarﬁaﬁ 5 ‘?-{» i} @ ﬂﬂ@" sgw%?i W% # Wffé W é?‘?ﬁw

"' '";; ﬁﬁr»k emw’ wity 459 i %Eﬁjﬁﬂ
2 2y el
: IR . M ﬁ@% g,&mg @f aéffw

5 ””% ﬁfr“"w M’"""




. SAMPLING APPLET ACTIVITY — DAY 2

Yesterday, we investigated the Sampling Distribution of Sample Means — which would apply whenever
~'we have a numerical variable for which we could compute amean. But what if we have categorical
data, for example, a ‘yes’/’no’ situation for WhICh we can oniy compute the percentage, or proportton

' '_of yes in & populatlon or sample‘? e 5

7.

At Ieast one person 111 1 your group use your phone s web browser to dlspiay WWW, mrfelhng com/saZ

. '(the qu actmty is detalled m the ﬁlled—m '

tesi .you:were absent and need to refer to 1t)

i '__'-__Do these formulas correctly prechet:.the mean and standard devratlon for our samphng dlstmbutlon of
' "sample proportmns ﬁgur pho : - 8 mf%m

- Is the shape of the .Samphng
'_ _- always Nearly Normai9 i

o Sampfmg Drsmbutwn af&mple Pmpemons :
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“Write a few sentences describing the trenels that you see .' '- i
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Practice Problems...
1. Suppose that the mean adult weight is 175 pounds with a standard deviation of 25 pounds. An
Jevator in a building has a weight limit of 10 persons or 2000.pounds. What’s the probability that the
_ 0 people who get on the eievator Wﬂl overload 1ts Welght hmlt‘?
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. #2.- Suppose that about 13% of the population is left-handed. A 200-seat school auditorium has been

: built with 15 “lefty seats™, seats that have the built-in desk on the left rather than the right arm of the
“chair. In a class of 90 students, what’s the probablhty that there will not be enough seats for the left-
: _handed students'?
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1. Colo: tossew. In.a large class of mtmductmy Statistics
students, the professor has each-person toss a coin 16
. -limes and c&aimiate the prapm tionof his or her-}:msses“that, L
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Chapter 18 Practice Quiz
AP Statistics Quiz B — qupter 18 B A Name

L. Itis generally believed tha: elecmeal pmblems aifect abmxt 14% Gf new cars. An automobile
" mechanic conducts dxagnostrc tests on 128 new cars on the Iat '
a. - Describe the sampling distribution for 1 o
: te!.lmg its mean aad standard i

s t{mﬁiw} | . :
ia% of € new cars w:il be founci te ha.ve o

' average length of 20.5

- random sample of 30 adult.ﬁythms nd-measure thetr fengshs In thetr samp!e the mean Iength
- was 19.5 feet long. One of the herpeto!ogmts fears that p{}l!ut:cm msght be affecting the natural
growth of the pythons Do youé’thmk ﬂ']ls samp!c result is unusually smail‘? Exglam
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